svyunit_c a) In one school with three classes in Germany, only two survey units existed. Class 2 [a) svyunit_c was recoded for respective students.
was split up, and students were moved to class 1 and class 3 b) svyunit_c was recoded for respective classes.
b) In one school with four classes in Sweden, those four classes from wave 1 were
put together in two classes for next school year, so in wave 2, there are only two
survey units left.

2 |y2_loc2aRV An inappropriate aggregation of some rare second and third languages at home The values of the two reduced variables were re-aggregated. Only minor changes
y2_loc2bRV between the full and the reduced version of the data. were made (1 case per country).
y2_intdat_yf Value labels for missing codes were not defined Value labels were defined and attached.

2 |y2_intdat_yfRV Value labels for missing codes were not defined Value labels were defined and attached.

y2_intdat_yfRV Value labels for missing codes were not defined Value labels were defined and attached.




